SR 6T BFIUEILIC IS  FREE KX S O ES S

% Gt BB B FWIKREE)



B 6 R BREILERICE S  FRE A RIS T E B ZRT

x B %O P I — M
K O BRIRTEDOH ™LA THEIH3 1 HET

S

Z

INTHER LR O R Y




o
No. 1
= = T & B 8 % i 8 i =
ENEE
EEERRFERRE
FEES = 1.0 F1SRIMExR
ERERE = 1.0 EVASENiES
REERRT— 3 FR & 545.0 EITHIER
VRATLT—3 774U S 545.0 FASHIER
TaehE = 1.0 oS HIifx
MEAER
(A=371.23, X=E{EBERE. b=-0.107) RSB L)
e AL

HEBRUMAHERE LS

HEBE 10. 0%

a5




i K (i

&1 B fi # £15
1.0 & 4Y —% A (BL. X8 = ELTEE)
5 % 5 R B OB | B ff & # t Z
[CEEINES )
B8 T AR 1.0 | AB
3B 8 H A 1.0 | AB
B2 B AR AH
AEBF AH
AEWBME AH
MR )
MR 1.o] =K EEAMED 5.0%
& i 1.0 = 5HY




i K (i

BRI ERE # $2%5
1.0 & 4Y —% A (BL. X8 = ELTEE)
5 B % 5 R B OB | B ff & # t Z
[CEEINES )
B8 T AR 1.0 | AB
3B 8 H A 1.0 | AB
B2 B AR 1.0 | AB
AEBF AH
AEWBME AH
MR )
MR 1.o] =K EEAMED 3.0%
R )
R 10| = EEAGED 5. 0%
& i 1.0 = 5HY




te R T — 2 fE R # — ROl R %38
1.0 K =) —% Hti BEL. %= 100.0 & & LTEE)
15 4 7 53] B E | B B ff & %8 ] =
LS )
A= EHRER 0.1] AH
BIEBEm 0.1 | AH
B = B Em A 1.4 AB
BIEBF 1.4 | AH
BEWHEE AH
MHE )
MHE 1.0 = EEAHED 8.0%
HREs )
R 1.0 & BEEAGED 5. 0%
& 100.0 X 1Y
1K%Y Lo & Y




SRFLT—8 T 7 4R # — ROl R £a8
1.0 & 3y —2 At (BL. {F%E 100.0 L LTEHE)
5 % B i " BECINE ¢ = i =
LS ( )
18 T 4T 6T 0.1| AB
IS T 0.2 | AB
IS 0.2 | AB
WEHT 0.3 | AB
AERHE AB
PR ( )
PR ol = EEAMED 5. 0%
HREs ( )
HREs 1o EEAMED 5. 0%
a i 100.0 * Yy
EXN, T T




— £ X f{f

& EthE 1 $55
1.0 = 2y —% At (BL. (%8 = £ LTEE)
= £ W 7 w B | E{ fi & @ i 2

B )
AR R 2.0 | AR
R B 2.0 | AR
R BT AH
MEHT AH
AEHHE AH

)

& 1 L0 % Hy




